SOLVING SIMULTANEOUS EQUATIONS - LINEAR AND SECOND DEGREE

Solve the following simultaneous equations. (Try to solve some using graphing software.)
1 y=5x+6 2 y=3x-2 3 y=x+5 4 x+y=15
y=x2 y=xz y=xl—3x )'=x2-6x+1
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9 x-y=1 ):1" 10 y=2x-5 11 y=2x-6 12 x+y=5
xy=2 y=x2—4x+4 < xy+2y 16 3x2+xy ) =29
q/?([?(—l):z a2 rt*—2-2=0 A=I+4Xl:q:52
%= | =3 == Etz:|7L23'=2

Z OR
y= =)= -2 Yo =2-1=1

o) g2 dy ph= -5 e XT-6x 1T =0

N=2-4x9 =0 x.—._g__zz

g )2x2-8= -]

W) 2l x (22-6) + 2 (2x-6)"= 16
sar +6x +2 (372 +36)= 16

a=> A*—
a—s  _ o t+6x + Sx* _48x +F2 =16
> Axr —hlx +56=0 oo xP-bx +8=0

-6+2 _ 4
A:56—4)<8:Z/‘=2’Z l‘ 67,2 - GR; M
j = DRl e 31:2)(1/—6 o &

12

/W3%2+%(54x (5-x)"= 24
a=> Jy* + 5w — T~ (25 -102 + %) = 29

ges 27> + Sx — 25 +10x — x* = 219

4= x> +15x —54=0 A = 523 b xSh =44l =217

r, =-15-21 _ 18 cr,z-;—_.l%-_@_.-_-s
= oR
J, = 5-[19)=23 Ji= F = L
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17 x+y=2 18 x=2y-1 19 x+2y=-8 20 y=x+9

x2+y2=2 3XZ=X+2)'Z xy=38 }':xz_x-ﬁ

H/ 762+(Z*x)2=2— a> Lx*—hzr +4=2 o Ixt—4x+2=0
x2-2x t+| =0 <= (z-1)*=0 x = | 5{=2_;___

3) 3(2_3-,)2: Zg-l +257’ <’=°3(432_4JH)’"23 +| —1(7 =
et [ 'lj +3 —ZJH —-151:0

s=> |0 hug +4=0 a=> 551-?5 +2 =0

ALy -bx5x2 =1 .
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